EARAROBEEIERT — 2 N— IBISH —F

2017568270 (K) 7EIEIR4E

KW > %3m% B_E1

EEE R

[A&E£] 1 7% :200,000 W ~ 23&:46,000 37#&:24,000 M  43%:18,000H" 5 3&:12,000 M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
5 4 3 | BEHBAA 1:33.6 1-1-1-1 | 41.3| — 1 469 | BHARRKR (£R)
111 ¥z—4AR 5.0 (=) o) | W) Fr—xtEvar
LY IRG1 TR B:LAY—T12FK AW S
S . 4 3 | EEBAX 1:33.9 5-4-4-4 | 411 | — 3 448 | £H—8 (£R)
2/8lg|NY 1 E> 56.0 (1 1/2) (+13) | FEPIBILE
L:O—I X144 B:ova+TNn—+ P e
N BLRTE . _n_n_. — BRIt (£R)
slglg| V=T —> i 3 Euw 1.(314>.1 3-3-3-2 | 41.5 4 (42:)) ;ﬁtﬁ;‘%
LT RIAYL—> BATUFL HMRARM IUAL T4
S — T — R s 3 | REAA 1:34.2 9-9-7-6 |40.3| — 8 443 | BRRR (£3R)
] 3|YI=I=kvyY ¥¢53.0 (1/2) e | (B J P N#H
R:FHYTTILRE BNLIH BEX &Y K
o s 3 | BERRAE 1:34.8 4-55-5 |41.5| — 9 432 | BiERZ (£R)
5077 |"T¥vx>3 540 @) (+2) ) Tr-AhEva
R:7UF—v B:¥r<v BEAR Fi
== i 3 | BHIER 1:35.1 7-6-5-7 | 41.9| — 7 480 | HARKR (£R)
EE 2| 7INEANKRTT 54.0 (11/72) 1) | F7—2bETa>
R:V2RYZYRAIR B:bh—t> T tR AR IXT1T77—L4
5 RN HHRE :35. 02~ . — &% (2R
7155 | 7B—UTFZH Y it 3 e 1(325>5 2-2-2-3 | 43.1 5 <3+939) LR
RAM=3I2TKR—L BUVRIAFTP=— KBE a1 75
“— R PNl o . 87— — HEERIE (£3R)
8 4| 7L—F3U1>x it 3 e 1.(336).2 8-8-7-8 | 42.6 6 <4+216) NBTR (&
QX gAqO— B:xAGIRTaY NS a vEEMRRI b Y S a K
o i3 | EEEARE 1:36.7 6-6-9-9 |43.2| — 2 457 | DNEEFIZE (£IR)
9 6 AVA K 54.0 (2 1/2) +2) ABA T
LT RIA Y L—> B:F5F4IT &I *E—
® I—F—@EBIERL
13—7F— 1,5,8,7,9,6,2,4,3
Ao=5"= 1,5,8,9,7,(2,6),4,3
33—7F— |[1,58,9,(2,7),(3,4).6
43—+ — 1,8,5,9,7,3,2,4,6
[ RN
B 1 200M 794K 1-9 230 & 1-8 3504 &R 1-8-9 1,100
# B 1 110M 1-8 310M B 1-8 570M EE 1-9-8 3,090M
9 200M 8-9 510 B = 1-9 770M
8 220 B H 1-9 960/

ABICOVWTRDTEEERROODE. TR LIV,




